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1) (x – 7) (x – 3) = __________ 

 
2) (2m – 1) (3m – 5) = _________ 

 
3) (-8 + 2p) (3p - 6) = _________ 

 

4) + −2(x 5)(x 7)  = _________ 
 

5) (ab – xy) (2ab + 3xy) = _________ 
 

6) 
  

− +  
  

1 2
p p

2 3
 = _________ 

 

7) + +2(4 x)(x 4x)=_________ 
 

8) Find the area of the shaded portion between the two 
rectangles. 

 
9) The dimensions of a greeting card are (x + 3) units and (2x 

+ 3) units. If each of the dimensions is increased by 3 units 
on both sides, then what is the new area? 
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10)  + −2 2(10x 3y)(5x 4y ) = ______________ 
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1) − +2x 10x 21  

2) − +26m 13m 5  
3) − +26p 36p 48 

4) − + −3 2x 7x 5x 35 

5) + −2 2 2 22a b abxy 3x y  
6) 

+ −2 p 1
p

6 3
 

7) + +3 2x 8x 16x  
8) − −213x 5x 4  

9) + +22x 27x 81 

10) − + −3 2 2 350x 40x y 15xy 12y  
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To multiply certain type of binomials, we 
can use the following algebraic identities: 
 

1. + + = + = + +2 2 2(a b)(a b) (a b) a 2ab b  
 

2.  − − = − = − +2 2 2(a b)(a b) (a b) a 2ab b  
 

3. + − = −2 2(a b)(a b) a b  
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